t38 supinf 2 (TMFARMbT-
BXVw2M5WqBsHNsbFcW21Jc1Bn6p)

October 27, 2020

Let vl_funct_1 : t=-0 be given. Let vl_funct 2 : t=1=1=0 be given. Let
kb_numbers : ¢ be given. Let k7_numbers : ¢ be given. Let ml_subset_1 :
t=>t=0 be given. Let kl_zfmisc_1 : 1=t be given. Let k2_zfmisc_1l : t=1=1
be given. Let vl_xboole 0 : =0 be given. Let k2_relset_1 : t.=>1=-1 be given.
Let vd_card-3 : t=>0 be given. Let k4_ordinall : ¢ be given. Let vl_relat_1 : 1=0
be given. Let vb_relat_1 : t=-1=0 be given. Let k10_ztuple 0 : 1= be given.
Let v3_ordinall : 1=-0 be given. Let vd_relat_1 : t=-t=-0 be given. Assume the
following.

kb_numbers = kd_ordinall (1)

Assume the following.

VX0VX1.((vlrelat-l X1)A(vborelat-1 X1 X0))=( @)
k2_relset-1 X0 X1 = k10_ztuple-0 X1)

Assume the following.

VX0.((—vl_zboole 0 X0)A(vl_relat-1 X0))=(—-vl_zboole0

(k10_ztuple 0 X0)) (3)

Assume the following.
(—wvl_zboole 0 k4_ordinall)A(v3_ordinall k4_ordinall) (4)

Assume the following.
—wl_zboole 0 kT_numbers (5)

Assume the following.

VX0.VX1.((vlorelat-1 X1)A(vb_relat-l X1 X0))=( (6)
ml_subset_1 (k2_relset_1 X0 X1) (kl_zfmisc_.1 X0))

Assume the following.

VX0.(—vl_xzboole 0 X0)=(VX1.(ml_subset-1 X1 (kl_zfmisc_1
X0))=((vd-card3 X1)<(—(—vl_zboole 0 X NA(VX2.((vl_funct_1
X2)A((v1_funct 2 X2 k5_numbers X0)A(ml_subset 1 X2 (k1_zfmisc_1
(k2_zfmisc_1 k5_numbers X0)))))=(X1#k2relset-1 X0 X2)))))



Assume the following.

VX0.VX1.((—vl_zboole.0 X0)A(—wvl_xboole 0 X1))=
(VX2.(ml_subset-1 X2 (kl_zfmiscl (k2_zfmisc.1 X0 X1)))= (8)
(((v1_funct-l X2)A(vl_funct2 X2 X0 X1))=((vl_funct-1 X2)A((
—wl_zboole-0 X2)A(vl_funct-2 X2 X0 X1)))))

Assume the following.

VX0.VX1VX2.(ml_subset-1 X2 (kl_zfmisc_1 )
(k2_zfmisc_1 X0 X1)))=((vdrelat-1 X2 X0)A(v5_relat-1 X2 X1))

Assume the following.

VX0.VX1VX2.(ml_subset.1 X2 (kl_zfmisc.1

(k2_zfmisc.1 X0 X1)))=(vl_relat-1 X2) (10)
Assume the following.
VX0.(vl-zboole 0 X0)=(v1_funct_-1 X0) (11)

Theorem 1

VX0.((vl-funct.l X0)A((vl_funct2 X0 k5_numbers k7_numbers)A
(ml_subset-1 X0 (kl-zfmisc_l (k2_zfmisc_1 k5_-numbers k7_numbers)))))=
((—v1_zboole 0 (k2_relset_1 k7_numbers X0))A((vd-card-3 (k2_relset_1
k7_numbers X0))A(ml_subset_1 (k2_relset_1 k7_numbers X0) (kl_zfmisc_1
k7_numbers))))



